
 
 
 
 
 
 

SECTION 

4.5 
CELLULAR RESPIRATION IN DETAIL 

Power Notes 
 

 
                                   Glycolysis:  (as a sketch or in words)—2 ATP molecules used to split glucose; 4 ATP (2ATP 

                               net) and 2 NADH formed as the three-carbon molecules are rearranged into 2 molecules of 
   pyruvate. 

 
 
 
 
 
 
 

When oxygen is available 

3. 
 
    

1. 
4. 

    

 
 
   
 
                                                                       Identify the process: 
 

                                                                                       Kreb’s Cycle or  
7. 

2.                                            Citric Acid Cycle 
 

   
 

 
 

6. 
 

 
 
 
 
 
 

Electron Transport Chain 
 

1.  3. 
 

 
 
 
 
 
 
 
 
 

4. Oxygen’s role in cellular respiration: 
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2.  Energy from 

electrons in the 

electron transport 
chain is used to pump 

H+ ions across the 

inner mitochondrial 
membrane 

 

H+ ions flow through 

ATP synthase, and 

ATP molecules are 

produced 

Oxygen picks up electrons that went through the electron transport chain and H+ ions 

 


